DIVISIONI DECIMALI -I CASO
dividendo decimale, divisore intero

Metti in colonna e calcola:

1) 974:5:14%,4 < 0,4
589,722 : 8 = 3,745 QO

54:3= 4,8

428:4-= 40;7‘/

457 343 : 6 =F6,£23 7 0,005
830,03: 4=20 %50 ¢ 0,03

9.9465: 744420,9 € 0L

68,273 /7= 3,753 ¢ (002
37902:7-542,F 20,3

707:2= éﬁ', 3 oA

@ 77456 : 7=110,65 7z 0,04
699,063 : 2 943,531 = 001

162:6=_2,F
5.609,3 : 6 = 4%9? 202
555:3=.18,5

2528:3:%,4Z 7 O;uz,
23507 :5=4,204 7O 002
98,435:7=4,062 ¢ 0,004
38,49:3:42,83

1463:2= £34 7 OA

2)s0548:4:=4C, 6 S £

11564:3:3554 80,0/
5.446 285 : 4 =1 (6‘?‘ e 0,00"{
31815:8=39%, 6 o
29435:4 = ?’ 358 ’05

57719 :8 = AL 0, 0F
3495421-499,3¢5 70,006
8372942 = 448,64 ¢ 0,04

o

4) 447 605: 4 A, 504 ¢ 0,004

61795:2:=20,89¥ 7 0,004
2421826 40,363 7 0,004
14325:2= A462 ¢ 0,004
54658:6=914, € ¢ 0,
28965:5=5¢9,3

74505:8= 33,43 ¢ 0,01
596:4= A4, 9
404923:3:=A4349, ¥4 ¢ U,04
56,72:8=_+; 09




